
Lec 2
- Do HW#2

Seen systems with:
- One solution
- No solution

Landrew id I
Tandrew id I achange this.

-Only these 3 possibilities
- Infuritely many solutions

I (x, y, ¿) = ( t+2, t, 1) for some tER
...or write (7, ×-2,1>

(yt2, y.1>

It Making choices
* Leading variable - first variable in equation

@-@ O - leading variableo- free variable & Can choose value

# Matrix representation

2X-54 +7=6* +24-7=3
-x +y +27 = 5

- Coeficient matrix
- Optional lines to indicate

#Matrix
§ Capital
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"La matrice angmentée"

The "main diagnal"
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"indexing
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Called "parametricsolution'"
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* Matrice triangulaire superieur- Aj =o pour tout isj.
upper triangular"

*

* Matrice diagonal
0

* Matrice triangulaire inferiere - aij =o pour tout inj

# Elementary Row Operations
1. Swap two novs
2. Multiply,row by3. Add of a row to another

, these on
1 soient core que ans
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Now can solve
for z, then y.
then X.

muttiple
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